A & ol & AF & Ml A

2016 £ 2 3 Luial
SM: SYIEME
B 200 MSIAY
o210 BYEMASY
8 : 22 ABER4Y (£l & &
SH-F-2-8-8 Ol & plE-E" L E 2
=R | 10,111,597 8,214,030 1,897,567
SRR 10,111,597 8,214,030 1,897,567
200 M2l =< 136, 100 37,000 99,100
210 ZAE N2+ 69,703 36,500 33,203
212 A2 55,703 22,500 33,203
212-08 JIEINE 2 55,703 22,500 33,203
OJIEIAB2 £ (554D 33,203 0 33,203
—ESHASUI ASE 33,203 0 33,203
220 24 AIE KISl 42 66,397 500 65,897
224 J|EH4 ¢ 66,397 500 65,897
224-06 19|42l 66,397 500 65,897
O+ (5YIN& D) 65,897 0 65,897
—SMXAN B3 S 35,000 0 35,000
— B WSO Y E RS 23,655 0 23,655
—MASSBHISH LI 742 0 742
~DEE BE3 By 6,500 0 6,500
500 2X3 9,975,497 8,177,030 1,798,467
510 2D x2S 8,336,036 6,863,512 1,472,524
511 2DEX3S 8,336,036 6,863,512 1,472,524
511-01 2 DX 5,625,348 5,587,057 38,291
OsHF4(=1) 402,084 358,635 43,449
—HE s4Y FAXS 20,000 0 20,000
—THY ASe X 25,300 54,600 229,300
—S22X 251 X 26,000 0 26,000
—sXols&e NA(L88H) 26,749 0 26,749
O=sgllg(=21) 47,600 4,952,654 A 12,858
—deYsY NFNE 50,000 100,000 A50,000
—YsANEH EYAF 0 800 A800
—xA=ANY HFAE 502,841 388,000 114,841
—MASEENMDNFENEZ 2,844,225 2,971,518 A127,293
—g=sg A=AM 153,849 150,777 3,072
—SsANZNEH Y 2,872 3, 150 ~278
—EHE XHH SO CH R b 47,600 0 47,600
Os=4IH(2D) 7,700 0 7,700
—EHE X SATH =27 U 7,700 0 7,700
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SN-F-B-E-2 0l &t o pIE-E" HZE2
511-02 NGLHSEI|HEXS 1,260,000 810,000 450,000
OsFMR(NE) 460,000 10,000 450,000
—2=s4dddste 2S48 A& 450,000 0 450,000
511-03 712 1,450,688 466,455 984,233
Osgll=m(J12) 310,015 59,904 250, 111
~DHEEEE L HANY BHY 0 15,677 A 15,677
—FTA Al E2 D2 EA 2 0 10,000 10,000
—FTAIIGHEE A 2 (=) 55,432 0 55,432

— FTAH & XI 2/ (k=) 213,870 0 213,870

— = FTA IIHEENE X2 (H48d) 6,486 0 6,486
OsF&H(I13) 1,140,673 406,551 734,122
— 8 RS 54,180 38,958 15,222
—SAHICT S22 =HAMY 22,500 0 22,500

— Y S4AXA 700,000 0 700,000
—SHEE MelAldE N& 3,100 6,700 A 3,600
520 Al - EHIE XSS 1,639,461 1,313,518 325,943
521 Al - SHIEXZ=S 1,639,461 1,313,518 325,943
521-01 Al - SHIE XSS 1,639,461 1,313,518 325,943
OsHF 4 (EHl) 703,508 411,346 292,162
— SRz 10,836 7,792 3,044
—E24dd0Ee sS24d3 N 54,000 0 54,000

— 2y FHAXR 215,670 0 215,670
—&E BEYUAY N2AY 1,364 0 1,364
—s2=XN 2518 N2 7,800 0 7,800

— =g BT HE KA 54,684 35,700 18,984
—FHE 2=2gA N 36,890 42,890 A 6,000
—SMER M2dANE XA 930 3,630 A2,700
OsEX & (=Hl) 183,990 183,988 2
—AMENSE KA 301 299 2

O =sJIsn(<Hl) 10,200 718,184 32,129
—RIN=sSIMX 970 971 A
—H MHisIot 2= K 420,630 413,000 7,630
—22Y MATE MY 0 2,700 A2,700
-=s&2 M2z A& 17,000 0 17,000
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